(A) TL snowed yesicrday.

It scems that the man loves Lhe woman.
The audience found it amusing that the

monkey could ride a bicycle.

(B) Nancy asked me to give it to youw

This is my new apartmenti. low do you like it?
llave you heard about it, thc company’ s new

non-smoking policy?

Questions:

(1) Can the mecanings of the pronoun IT be

accounted for in semantic terms for both scis

of data? (5%)

(2) Using ithcse cxamples, show how mcanings of the

pronoun IT can be desoribed from a siudy of

context, (10%)

1. Examine the following Chincse data and siate rules that

govern ihe formation of acronyms. (15%)

(A) Britk
A
BHEAP
AR
WEAS
SIPN

BA
BA
WA
g
HiE
Haplg

(B) dEEImTF WHE
BALET W
@ —8
R 1T

EhiEmAafe g

(€) tHERERER +7
spmrE L rERTE A -4/ —&P
BEGE B
Eigp®  HP
pEuTEEPs RELFP
HREEMERE

5 Examine the following daia and answer the questions.

1. udaudal.

2. thithing.

3. vaival.

4. imiimim.
5.ayudal lutha.
6. waudal Kumaun.
T.wavai kutha.

8 ayinin lumaun.

Qucstions:

‘It is raining.’

"1 is drizzling.’

"It is sunny.’

"1t is cloudy.’

*It will rain Lomorrow.’

' [{ raincd last night.’

"1t was sunny yesterday.’
*1t will be cloudy tomorrow night.’

(1) llow arc icnses formed in the language? Statc

ic type of sorphological process it undergoes.

(10%)



(2) low arc time words formed? (5%)

6. Examinc the following data from a hypothetical language

Daruka. Then do ihe following quesiions:

(1) List all morphemcs with their glosses. (10%)

(2) Describe word order, iense system, and negative

formation of Daruka.

(10%)

(3) Translaie the following sentences into Daruka. (10%)

a. W11l a bear eat fish?
b.¥on' t the man shoot the beaver?

l.marutag balba wa kule,

Z2.marutag balbag kutickic.

d.marulag chapa kuilc ha?

A. marutag balba kuicsni ha?

9. chapa tawu yutaktesnl.
6.ballba wa tawug yutiasni.

Daruka

"The man was/is shooting a

bear’

"The man will shoot the bear
"Was/is ithc man shooting

beaver?

"Wasn' t/isn’ t the man shooting

bear?’

"Beaver won' t cat fish. '

"A bear isn’ t/wasn' t eating the

fish.’
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Part | - Questions (Choose 5) (75%)

1.

Describe the different iypes of plural formation of
nouns in the English language. What natural classes are
involved? Why is this formation a morphophonemic
process? Please be specific and provide examples for
illusiration.

The following pairs of words evidence the operation of
onc of the most dramatic regular sound changes in the
history of the English language. Examinc these
alternating phonciic forms, identify this sound change,
and explain how the sounds of the underlined letters in

column | are rclated to those in column U

1 I
alcrime [d1] a)eriminal  |1)
bimcter  [i] bimetirical [ & ]
c)sane [e] c)sanity (& ]

d)verbose |[o] dlverbosity [a]

¥hat arc the differences between Mandarin and English in
terms of language family, prosody, and writing system?
The following arc two seis of English words. Are they
both derived from certain word formation rules? Pleasc

justify why you say so, and list all the word formation

rules involved specifically.

1|
a)unbeaten a)unloosen
bldisrcpuiable b)distinci
clatheist clathlete
d)makeup d)mackiniosh

Usually, people define "ditransitive verbs® as "verbs
that may be followed by iwo nouns.® And they claim that
there is a sysicmatic, siructurc-dependent relationship
beiwecen scniences like:

a. The boy wrote her a letter.

b. The boy wrole a lciier to her.

But there is something wrong with the above definition

and the claim. Please give cxamples in contrast to show



ihe problems and then redefine "ditransitive verbs. ™
Plcase read thc following paragraph carcfully. What is
worng with it? Bascd on the given paragraph, arguc for
vour claim, and list the similariticsand dissimilarities
between Chincse and English systematically.
BE—LENRLE - BT SRR IrEE - REBEAMER
FE B BRFEidtrafficE H R HE -

BET —H5EHESMN AR HAN K - BERTHSHM
#HHE - —HETRME -SSR TEMT - RESRMES
Hinsurance& L -

BREERESE - IR CAEETRENH - RAERER « {54
2 -

Part U, Briefly define and illustrate the following tcrms:
(Choose 5) (25%)

l. language universals

2. human language and animal language
3.
1
]
b

obsiruenls and sonoranis

. phonotactic consiraints
. lexical ambiguity

. complementary pairs of antonyms and relational oppositics

HEER

DIRECTION:

1. There arc two seclions in this test. For both
scctions, choose any FOUR questions among the

five given.

3.

Language productlion is a very complicale
mechanism involving several steps, c.g.,

conceplual ization, syntaclic construction,
word sclection, phonological realization,
articulation, etc. What do the following
speech errors reveal about this mechanisa?
(The correct reading of each scntence is given
in the paratheses).
a. 1"11 go shut up the darn bore.

(I' 11 go shut up the barn door. )
b. The sky is shining.

(The sky is blue, and the sun is shining. )
c. Scymour sliced the knife with the salami.

(Seymour sliced the salami with the knife. )

d. It is kistomary to cuss the bride.
(It is cusiomary to kiss the bride. )

The current trend of language
learning/tcaching is to develop communicative
competence. What is communicative compcicnce?

And in what way(s) can it be developed in the

language classroom?

Learners often use certain strategies in
approaching their learning task, and many



sirategics have been identified for second

_ John is in math class now.
language lecarners, cognitive and

John is in art class now.
social-affective as well. Pleasc give at

John is in chemisiry class now.
it g ki John is in Physics class now.
describe how each helps the learner 1o learn.

John is in swimming class now.
3. "Context"

has recently been an important issue 9  Examine the following data of Taiwan Lokkang dialect.
in the study of language. Please discuss it

(note: Tone markers are omitted from the original data )
from the point of view of either pragmatics

puc? '/ tak 'F  kut A
(sociolinguistics), or psycholinguistics, or

pin A tik TR kek H
language learning/teaching. a7 HE tit B kue "B
pia? 3
Section U : Define the followj 3 T im = ®
e n. owing terms. Choose any FOUR pat I tim ‘It kim "%
(20%--5 points for each). bk "H lit " H° ga "’
I.  Sapir-Whorf hypothesis r + gy lak ' A qua A
ut
2. creolization L in "HA
bin WI lip "A"  gin "H
3. adjacency pair i 1o B @? A
4. schema -
3. critical period hypothesis Questions:
BEAH

(1) (a) Arc voiced stops (b,d, g) and voiceless stops (p, 1,
L. Examine the differences in the pronunciation of the word

k) contrastive? Explain. (1%)
in as it would occur in rapid specch in the fol lowing

(b) Arc they neutralized? |Explain. (4%)
sentrnces. Explain the phonetic variclties of in,

and (2) State the phonological rule(s) that account for the
staie the U&EDHGHHHHH ﬂ.:“_ﬁﬁmu mu.—..__.-u_ta . _“—_uﬂu

disiribution of voiced siops in Taiwan Lokkang dialect.
John is in theology class now.

(%)

3. Examinc two sels of data below and answer the questions.

John is in Portuguesc class OOW,
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